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BaAe og KUKAO T CWOTH AMAVINON

1. It TECOEPEIC ATTO TIC TTEVTE TTIO KATW EIKOVEC TOo doTrpo epPfadod eival ico pe To yKpifo
gppado. Le moia gikéva 1o dompo sppado AEN EINAI IZO pe 1o ykpifo eppado;

In four of the five pictures the white area is equal to the grey area. In which picture are the

white area and the grey area different?
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2. . © MixdAng Kai o Fidvvng maifouv peAdkia. O KaBévag pixvel 3 BEAAKIA (OTTWE QaiveTal
otV £1IKOVa). MoIo¢ VIKNOE Kl JE TTOTOUC TTEPICTOTEPOUG TTOVTOUC KEPDICE?

MixdaAng ridavvng

A) O Miyahng, képdioe 3 TrepiooéTepoug TTovioug  B) O Mavvng, képdioe 4 TTepiocdTEPOUG TTIOVTOUG
C) O MixdAng, képdioe 2 TTepioagéTEpOUG TTOVToUG D) O Mavvng, képdioe 2 TTEPICTOTEPOUG TTOVTOUG

E) O MixdAng, képdioe 4 TTEPITCOTEPOUG TTOVTOUG

3. 13 madia waifouv kpueTd. ‘Eva oandi guAdel kai o1 utréAoiro kpuBovrar. MeTd amé Aiyo
Bpiokel Ta 9 wandid. Néoa waidia kplPovral akdpa;
13 children are playing hide and seek. One of them is the “seeker”. After a while 9 children
have been found. How many children are still hiding?
A)3 B) 4 C)5 D)9 E) 22
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4, O marépag amAwvel TNV PTrouydda oTo oxoivi. OEAEl va Xpnoipotroifioel 6co o Aiya
pavraAakia yiveral. MNa 3 weroéteg ypeldleron 4 pavrahdkia, 6w QAiVETO OTNV EIKOVA.
MNéoa pavraldkia Ba XpeIaoTei yia 9 TETTETEGS,

Father hangs the laundry outside on a clothesline. He wants to use as few pegs as possible.

For 3 towels he needs 4 pegs, as shown. How many pegs does he need for 9 towels?

A) 9 B) 10 c) 12 D) 16 E) 18

5. .Z10 IXoAtio Twv Zwwv, 3 yaTtdkia, 4 Tamakia, 2 Xnvdkia Kal apKeTd apvdakia Kavouv
Hdénpa. H daokdla Koukoupdyia Bprike 611 6Aol ol paéntéc Tng padi égouv 44 wodia.
Méoa apvdkia uTrdpyouv oTo EXoAzio;

In the animal’s school, 3 kittens, 4 ducklings, 2 goslings and several lambs are taking
lessons. The teacher owl found out that all of her pupils have 44 legs altogether. How
many lambs are among them?

A)6 B)5 C)4 D)3 E)2

6. O @iAirrog @ridyvel éva @i5dkl pe domino(vropivo) pe emTd midvia. Bddel To éva miovi

HETG TO GAAO €101 WOTE iB10¢ UPIBPOC KOUKKIBWY OTA TIGVIA va ayyifovral JETagu Toug.
Kavovikd To @I8dKi péTrel va £Xel 33 KoukKibeg. AAAG o adeApdc Tou o Fwpyog mhpe Suo
movIa amd To QIBAKI (6TTwg PpaiveTal oTnv £IK6va). Méoeg KOUKKideg ATav oTnv Béon Tou
EPWTNHATIKOU 7 ;
Frank made a domino shake of seven tiles. He puts the tiles next to eacg other so that the
sides with the same number of dots were touching. Originally the snake has 33 dots on its
back. However his brother George took away two tiles from the shake (see the picture).
How many dots were in the place with the question mark?
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A)2 B)3 c)4 D)5 E) 6




